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In Reasoning Part, another important Topic
is Inequality Problems. In inequality
problems, each problem will have a
statement followed by conclusions. We can
easily score 4-5 marks from this topic in few
minutes. Inequality is common topic for all
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competitive exams. It is one of the topic,
where you can get full marks very easily. We
are going to explain a very simple method
and we assure you that it’s possible to solve
5 guestions in just one minutes.

So, let’s learn this topic.

Symbol

Meaning

First element is Greater than Second element.

First element 1s Smaller than Second element.

First element is Equals to Second element.

First element is Greater than or Equals to Second element.

First element is Smaller than or Equals to Second element.

First element is either greater than or smaller than Second element.

RULES:

“>” (more than) & “>" (more than equal
to) symbol explanation:

If the conclusion contains “>" (more than)
symbol:

1. It will satisfies if, “>" (more than)
symbol present in the statement
between objects.

2. It will also follow “= (equal to)”, “>
(more than equal to)” symbols but
“> (more than)” symbol must be
present at least in statement between
the objects as per the conclusion.

If the conclusion contains “>" (more than
equal to) symbol:

1. It will satisfies if, “>" (more than
equal to) symbol present in the
statement between objects.

2. It will also follow “= (equal to)”
symbol, but “> (more than equal
to)” symbol must be present at least

in statement between the objects as
per the conclusion.

Note: if the statement contains “> (more
than equal to)” symbol, and conclusion has
“= (equal to)” & “>"" (more than) symbol,
in this case either option will come into
existence.

Example:

Statement:
PzQzRz2S=T>UzW
Conclusion:

a) P>R 7

b) P>y — FALSE
c) P>T ,\

d) P>U =

e) P>WwW

fi P2R

G pus TRUE
h)y P=T

) P=T

b EoR EITHER foll
K) P>R} () or {K) follows

) P>s EITHER (L) or (M) follows
m) P=S _

“<” (less than) & “<” (less than equal to)
symbol explanation:
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If the conclusion contains “<” (less than)
symbol:

1. It will satisfies if, “<” (less than)
symbol present in the statement
between objects.

2. It will also follow “= (equal to)”, “<
(less than equal to)” symbols but “<
(less than)” symbol must be present
at least in statement between the
objects as per the conclusion.

If the conclusion contains “<” (less than
equal to) symbol:

1. It will satisfies if, “<” (less than
equal to) symbol present in the
statement between objects.

. It will also follow “= (equal to)”
symbol, but “< (less than equal to)”
symbol must be present at least in
statement between the objects as per
the conclusion.

Note: if the statement contains “< (less than
equal to)” symbol, and conclusion has “=
(equal to)” & “<” (less than) symbol, in
this case either option will come into
existence.

Example:

Statement:
P£=Q=R=sS=T<UsW
Conclusion:

a) P<R
b) P<s } FALSE
c) P<T

P<UT]

P<W

PSR

pP<S TRUE

}— EITHER (J) or (K) follows
: } EITHER (L) or (M) follows

Important Points :-
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Note 1: If opposite sign used between object than answer will be false.

SIGN SIGN ANSWER
False
False
False
False
False
False

Example 1:

Statement:
P<Q>R<S>T

Conclusion:

P<R
P<S
P<T|
Q=T
Q=S
R>T _J

Explanation: Sign used in statement as
compared to conclusions are opposite, so
the conclusion will be false.

Example 2:

Statement:
P>Q0<R>S<T
Conclusion:

a) PZR )
b) P=S
c) pzﬂ
d Q=T
e) Q=S
f) RET

— FALSE

—r
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Explanation: Sign used in statement as Statement:
compared to conclusions are opposite, so
the conclusion will be false. P<Q<R<S<T

Conclusion:

Note 2: If same sign used between object than answer will be true,
SGN SIGN ANSWER a)
> > True b)
True C)
frue )
Trye e)

True f)

True

Explanation: Sign used in statement as
compared to conclusions are SAME, so the
conclusion will be TRUE.

Example 3:

Important conclusion Based on Statement

No

Statement Conclusion

A>B>C

A>B>C

A>B>C

A=B>C

A>B=C

A<B<C

A<B<ZC

A<B< C

A=B<C

A<B=C

A>B>C

A=B>C A>C(Either A>C or A=C)

A>B=C

A<B<C

A=B<C A<C (EitherA<CorA=C)

A<B=C

A<B>C Either 1 or 2 follows if any of the following cases (a, b,
A< B>C c and d) are given as they form a complementary pair.
A<B>C

S.
1.
2.
3.
4.
S.
6.
7.
8.
9.
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20. A>B<C
21. A>B<C

b)1.A>C

22. A>B<C

d)1.A<C

Example of Coded Inequality in Reasoning

Directions: In the following questions, the
symbols 6, @, ©, % and * are used with the
following meaning as illustrated below.

‘A © B’ means ‘A is not smaller than B’.

‘A % B’ means ‘A is neither smaller than
nor equal to B .

‘A * B’ means ‘A is neither greater than nor
equal to B’.

‘A 0 B’ means ‘A is not greater than B’.

‘A (@ B’ means ‘A is neither greater than
nor smaller than B’.

Now in each of the following questions
assuming the given statements to be true,
find which of the four conclusions I, 11, 11
and 1V given below them is / are definitely
true and give your answer accordingly.

Statements:
PoT, T@R ROO,0%K

Conclusions:
LR@P
HLR%P
H. K *T
V. 06T

1) Only either I or 11 is true

2) Only 11l and 1V are true

3) Only either 1 or 1l and 11l are true

4) Only either I or Il and IV are true

5) Only either 1 or Il and 11l and 1V are true

a)l.A>C

c)1.A<C
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22.4A<C
2.A<C
24>C

2.A>C

Follow the steps given below to simplify the
process.

Steps Involved in Solving Coded Inequality
in Reasoning

Step 1: Make Decoding Table.

The easiest method is to first make a table as
shown below.

Ais

Symbol

Meaning
ThanB

NOTE: Elements used in question are A and
B so we have added A and B in table.

TIP: Sometimes, to make questions more
complicated, reverse relations may be given
as:

‘A * B’ means ‘B is not smaller than A’.

So here we will write B in the first row and
A in the last row.

Step 2: Add Symbols to Table

Ais
Symbol [ © | %

Meaning
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Step 3: Start decoding symbols one by one.
Then add decoded operator into the table.
Here symbols are:

© — not smaller than — means greater
than or equal to — >’

% — neither smaller than nor equal to —
means greater than — >’

* — neither greater than nor equal to —
means smaller than — ‘<’

0 — not greater than — means smaller than
or equal to — ‘<’

@ — neither greater than nor smaller than
— means equal to — ‘=’

So our decoding table becomes:
Ais

Symbol | © | % @

Meaning | 2 | > =
Than B

We will now use this decoding table to solve
the actual questions.

Step 4: Decode Statements using Decoding
Table.

Ais
Symbol | © | %
Meaning | 2 | >
Than B

Statements: Po T, T@ R, R© O, O % K
Decoded statements: P<7, T=R, R>0, O
> K

Step 5: Combine Decoded Statements
Combined statement will be: P<T =R >0
>K

Step 6: Conclude Individually
Look at conclusions one by one, decode
each conclusion using the Decoding Table.

Join Us: Telegram.me/GovtAdda

Then check whether the conclusion follows
or not.

Ais
Symbol | © | %
Meaning | 2 | >
Than B

Conclusionl: R@ P —> R =P

Now from the combined statement we get, P
<T=R

According to priority level we get, P <R.
Thus R = P is false.

Conclusion ll: R %P —R>P

From the combined statement we get, P <T
=R.

Thus again we get P <R.

So R > P is false.

But we know from the combined statement

that P < R. Hence either conclusion | or 1l

has to be true as they form complementary
pair.
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Inequality Questions with
Solutions

Directions (1 - 5): In the following
questions the symbols #, *, @. $ and = are
used with the following meanings:

1) A # B means A is greater than B.

2) A * B means A is greater than or equal to
B.

3) A @ B means A is equal to B.

4) A $ B means A is lesser than B.

5) A = B means A is lesser than or equal to
B.

Now in each of the following questions,
assuming the three statements to be true,
find which of the two conclusions

| and Il given below them is/are true. Give
answer.

a) if only conclusion I is true

b) if only conclusion Il is true

c) if either conclusion I or conclusion Il is
true

d) if neither conclusion I nor conclusion Il is
true

e) if both conclusions | and 11 are true.

1. Statements: P#Q,R$P,R* 0O
Conclusions:

.LQ#R

I.LQ$R

2. Statements: P=Q, T@R,R#P
Conclusions :

. T=Q

1. Q*T

3. Statements : P@ Q,L@ M, P #L
Conclusions :

.Q#M

I.M$P
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4. Statements: PAM#L, LEAN@ Q,Q$S
@R

Conclusions :

LR@M

IN.LO@OR

5. Statements : P*Q, Q@ T, T* L
Conclusions :

.Q#L

I.T#P

Directions (Q. 6 - 10): In the questions
given below, certain symbols are used with
the following meaning:

1) P @ Q means P is greater than Q.

2) P + Q means P is either greater than or
equal to Q.

3) P =Q means P is equal to Q.

4) PO©Q means P is smaller than Q.

5) P - Q means P is either smaller than or
equal to Q.

Now in each of the following questions
assuming the given statements to be true,
find which of the two conclusions

I and Il given below them is/are definitely
true?

Give answer

a) if only conclusion 1 is true,

b) if only conclusion Il is true,

c) if either I or 11 is true,

d) if neither 1 nor Il is true, and

e) if both I and Il are true.

6. Statements:B@ V,K©C,C-B
Conclusions:

LV@C

I.B@K

7. Statements: K@ T,$=K, T-R
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Conclusions:
.LS@R
I.T=R

8. Statements: U=M,P+ U, M @ B
Conclusions:

I.P=B

I.LP@B

9. Statements: L+ N, J-P,P+ L
Conclusions:

1.J=L

I.P=N

10. Statements: H+ G, D@ E,H=E
Conclusions:

I.D@H

I1.GO©D.

Directions (Q. 11 - 15): In the questions
given below, certain symbols are used with
the following meaning:

1) A @ B means A is greater than B.

2) A + B means A is either greater than or
equal to B.

3) A# B means A is smaller than B

4) A % B means A is either smaller than or
equal to B.

5) A'$ B means A is equal to B

Now in each of the following questions
assuming the given statements to be true
find which of the two conclusions |

and Il given below them is/are definitely
true? Give answer

a) if only conclusion 1 is true.

b) if only conclusion Il is true,

c) if either I or Il is true.

d) if neither I nor Il is true.

e) if both I and Il are true.
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11. Statements: TS G, K@ P, M#T, P +
M

Conclusions:

LK@T

I.G$P

12. Statements: R+ N,S% B, A@R,B$ A
Conclusions:

I.LS$N

ILA@N

13. Statements: GSK, F@ J, K+ Q, Q +
F

Conclusions:

ILK$F

I.F#K

14. Statements: W@ S, K% Z, U+ W, S $
K

Conclusions:

LU@K

IN.Z@S

15. Statements: GSE,D#K,E#S,Kx G
Conclusions:

I.S@D

Il.D# E

Directions (Q. 16-20): In the following
questions the symbol $, @, *, ** and # are
used with the following meaning.

1) A $ B means A is greater than B

2) A @ B means A is either greater than or
equal to B

3) A* B means A is equal to B

4) A** B means A is smaller than B

5) A # B means A is either smaller than or
equal to B
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Now in each of the following questions
assuming the given statements to be true,
find which of the two conclusions

I and 11 given below them is/are definitely
True? Give answer

a) if only conclusion 1 is true.

b) if only conclusion Il is true.

c) if either I or 11 is true.

d) if neither I nor Il is true.

e) if both I and Il are true.

16. Statements: P @ Q, M # N, N**Q
Conclusions:

I.LP$M

ILN#P

17. Statements: D**X, F@ Y,D$ F
Conclusions:

. X@Y

I.Y#D

18. Statements: M**P, S$T, M@ T
Conclusions:

I.S*M

I.T**P

19. Statements: U*V, X $ W, U**W
Conclusions:

LWS$V

I.U**X

20. Statements: G$H, J# K, H* K
Conclusions:

ILHS$J

In.J*H

Directions (Q, 21-25): In the following
questions the symbols $, @, *, # and ? are
used with the following meanings.

1) A'$ B means A is greater than B.
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2) A @ B means A is either greater than or
equal to B.

3) A * B means A is equal to B.

4) A # B means A is smaller than B.

5) A ? B means A is either smaller than or
equal to B.

Now in each of the following questions
assuming the given statements to be true,
find which of the two conclusions

I and Il given below them is/are definitely
true? Give answer.

a) If only conclusion I is true.

b) If only conclusion Il is true.

c) If either 1 or Il is true.

d) If neither I nor Il is true.

e) If both I and Il are true.

21. Statements: M#N, TS U, N# U
Conclusions:

I.M?2T

I.T$N

22. Statements: PST,G?N, T@ N
Conclusions:

I.LP$N

N.G?2T

23. Statements: P?Q,R$S,Q @ S
Conclusions:

I.LP$S

ILR#Q

24. Statements: J#HK, K*F H@ F
Conclusions:

1.LJ?H

I.H$K

25. Statements: D@ F, G$H,F?H
Conclusions:
I.G$F
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I.D@H

Directions (Q. 26-30): In the questions
given below, certain symbols are used with
the following meanings:

1) A @ B means A is greater than B.

2) A * B means A is either greater than or
equal to B.

3) A# B means A is equal to B.

4) A'$ B means A is either smaller than or
equal to B.

5) A + B means A is smaller than B.

Now in each of the following questions,
assuming the given statements to be true,
find which of the two conclusions

| and Il given below them is/are definitely
true? Give answer

a) if only conclusion I is true

b) if only conclusion Il is true

c) if either conclusion I or Il is true

d) if neither conclusion I nor Il is true
e) if both conclusions I and Il are true

26. Statements: B+ D; E$T; T*P; P@ B
Conclusions:

I. P$D

Il. P@D

27. Statements: E*F; GSH; H#E; G @
K

Conclusions:

l. HQK

1. H*F

28. Statements: PSQ; N#M; M@ R; R *
o]

Conclusions:

. P+N

1. Q$M
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29. Statements: D+ T; E$V;F*T;E@D
Conclusions:

. D$V

I.D+F

30. Statements: T*U; USW; V@ L; W+ V
Conclusions:

LV@T

In.L#W

Directions (Q. 31-35): In the following
questions, the symbols +, x, =, +, and - are
used with the following meaning:

1) P + Q means P is greater than Q.

2) PxQ means P is either greater than or
equal to Q.

3) P =Q means P is equal to Q.

4) P + Q means P is smaller than Q.

5) P-Q means P is either smaller than or
equal to Q.

Now in each of the following questions
assuming the given statements to be true,
find which of the two conclusions

I and Il given below them is/are definitely
true. Give answer

a) if only conclusion I is true,

b) if only conclusion Il is true,

c) if either I or 11 is true.

d) if neither I nor Il is true.

e) if both I and Il are true.

31. Statements: U+ V,W-Y,Y x U
Conclusions:

LW+ U

H.W=V

32. Statements: B+ A, D XE,E+ A
Conclusions:

I.D+A

II.B+E
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33. Statements: Sx Q,R+T,R-S
Conclusions:

I.LS+T

1.Q=T

34. Statements: M+ N, P x Q,P + N
Conclusions:

I.LN+Q

I.N-Q

35. Statements: G-H, Kx L,L-G
Conclusions:

I.G+K

I.L-H

Directions (Q. 36-40): In the following
questions the symbols @, c, £, ? and $ are
used with the following meanings:

1. A @ B means A is neither equal to nor
smaller than B.

2. A ¢ B means A is neither greater nor
smaller than B.

3. A £ B means A is not equal to B.

4. A? B means A is neither greater than nor
equal to B.

5. A'$ B means A is either greater or equal
to B.

Now, in each of the following questions,
assuming the given statements to be true,
find which of the two conclusions | and 11
given below them is/are definitely true. Give
answer

a) if only conclusion 1 is true

b) if only conclusion Il is true

c) if either 1 or Il is true

d) if neither I nor Il is true

e) if both I and Il are true

36. Statements: N?S,S@P,P£M
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Conclusions:
l.S@M
I1. PcN

37. Statements: JcP, P$N, JEH
Conclusions:

l. JcN

Il. HQP

38. Statements: Z@ D,FcD,F$G
Conclusions:

l. DcG

1. Z@G

39. Statements: L@ T, P ? T, K$L
Conclusions:

. L@P

1. K@T

40. Statements: RcU,U?Q, W$R
Conclusions:

. WeU

1. W@u

Directions (Q. 41-45): In the following
questions, certain symbols are used with
the following meanings:

1. A# B means A is not greater than B.

2. A'$ B means A is neither smaller than nor
equal to B.

3. A ? B means A is neither greater than nor
smaller than B.

4. A* B means A is neither greater than nor
equal to B.

5. A @ B means A is not smaller than B.
Now in each of the following questions,
assuming the given statements to be true,
find which of the two conclusions I and |1
given below them is/are definitely true. Give
answer
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a) if only conclusion I is true;
b) if only conclusion Il is true;
c) if either I or 11 is true;

d) if neither I nor Il is true; and
e) if both I and Il are true.

41. Statements: P$Q,R@ S, P *R
Conclusions:

. Q*R

I.P#S

42. Statements: USV,W* X, U @ X
Conclusions:

. V@OX

In.v*X

43. Statements: K#T,DSF, T*F
Conclusions:

. K*D

I.D$T

44, Statements: M$N, G@H, N?H
Conclusions:

. M@H

I.M$G

45, Statements: G@M, N#L, G*L
Conclusions:

. G@N

ILL$M

Directions (Q. 46-50): In the following
questions, the symbols @, &, *, $ and ? are
used with the following meanings:

1) P ? Q means P is either equal to or
smaller than Q.

2) P $ Q means P is neither greater than nor
smaller than Q.

3) P*Q means P is neither greater than nor
equal to Q.
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4) P @ Q means P is either greater than or
equal to Q.

5) P & Q means P is not equal to Q.

Now in each of the following questions,
assuming the given statements to be true,
find which of the two conclusions | and 11
given below them is/are definitely true. Give
answer

a) if only conclusion I is true;

b) if only conclusion Il is true;

c) if either 1 or Il is true;

d) if neither I nor Il is true; and

e) if both I and Il are true.

46. Statements: K$M, N&M, J@K
Conclusions:

1.LJ?M

I.K$N

47. Statements: K@ R, L & B, B? K
Conclusions:

I.B?R

Il. R*L

48. Statements: J*M, W$E, JQW
Conclusions:

. M?W

.J?E

49. Statements: R@ S,S? U, T$R
Conclusions:

I. T$S

In.T?2U

50. Statements: A*B,B?C,C @ D
Conclusions:

I. ASD

I1.B?D
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Directions (Q. 51-57): In the following
questions the symbols +, *, ?, @ and S are
used with the following meanings:

1) P + Q means P is neither smaller nor
greater than Q.

2) P x Q means P is neither equal to nor
smaller than Q.

3) P ? Q means P is neither greater than nor
equal to Q.

4) P @ Q means P is either greater than or
equal to Q.

5) P $ Q means P is not equal to Q.

51. Statements: P$Q, QxR, P + R
Conclusions:

.LQxP

I.P?Q

I.RxP

A. l only

B. 1 and Il only

C. Either 1 or Il only

D. All LIl and 111

E. None follows

52. Statements: A+ B,B$C,C?A
Conclusions:

I.CSA

Il. B+C

IH.C?A

A. None follows

B. Only I

C.Only 1l

D. Only 1l

E.Only Il & 111

53. Statements: Y@Z,Zx Q,Q$ P
Conclusions:

.Y?Q

I.y?p

IH.Zz@P
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A. None follows
B.Only |
C.Only 1l

D. Only 11
E.Only Il & I

54, Statements: ExF,F@L,L+N
Conclusions:

I.LN+F

I.ExL

I1.EXxN

A. None follows

B. Only |

C. Only 11

D. Only I1I

E. Only Il & 111

55. Statements: H@J, J? K, K x M
Conclusions:

IlH@ M

I.MxJ

1. Hx K

A. None follows

B. Only |

C. Only 1l

D. Only I

E. Only Il & 111

56. Statements: M@T, T + V, V?E
Conclusions:

l.LV+M

ILv?M

HLEXT

A. Only either | or 11

B. Only Il

C.Onlyl &1l

D.AILL T &I

E. Only either 1 or 1l and 11l

57. Statements: H@J, J? K, K x M
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Conclusions:
LH@K
I.MxH

. Hx K

A. None follows
B. Only |
C.Only 1l

D. Only I

E. Only Il & I

Directions (Q. 58-62): In the following
questions the symbols *, x, S, @ and + are
used with the following meaning:

1) ‘PxQ’ means ‘P is neither smaller nor
greater than Q’

2) ‘P@Q’ means “ P is neither equal to nor
greater than Q’

3) ‘P*Q’ means ‘P is either equal to or
smaller than Q’

4)’P+Q’ means ‘P is neither equal to nor
smaller than Q.

5) ‘P $Q’ means ‘P is not equal to Q.

58. Statements: D*F, F$M, M@K
Conclusions:

LF@QK

I.D@K

IHI.D*M

A. None follows

B. Only I

C.Only 1l

D. Only III

E.Only Il & 111

59. Statements: K+ M, M@R,R x T
Conclusions:

LK+T

nN.T+M

LR+ K

A. None follows
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B.Only |
C.Only 1l

D. Only HI
E.Only Il & I

60. Statements: T@M, M*R, R x N
Conclusions:

I.M x N

.M @N

IHI.LRXxN

A. l only

B. Il and 11l only

C. Either 1 or Il only

D. All L1l and 111

E. None follows

61. Statements: B$N,NxR,R+ T
Conclusions:

I.LB$R

I.LT@N

IHILN+T

A. Only either 1 or Il

B. Only 11

C.Only | &Il

D.AILL T &I

E. Only either 1 or 1l and 1l

62. Statements: N x P, K+P,Q @ K
Conclusions:

I.K+N

I.LQ+N

HL.Q+P

A. None follows

B.Only |

C.Only Il

D. Only 1l

E.Only Il & 111
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Directions (Q. 63-67): In the following
questions, the symbols $, ©,x, @ and # are
used with the following meanings:

1) P $ Q means P is not smaller than Q.

2) P © Q means P is neither greater than
nor smaller than Q.

3) P @ Q means P is not greater than Q.

4) P x Q means P is neither smaller than
nor equal to Q.

5) P # Q means P is neither greater than nor
equal to Q.

63. Statements: Z$K, K x T, TOF
Conclusions:

L.F#Z

I.ZxT

IL.KxT

A. Only Il

B. Only I and Il

C. Only III

D. Only Il and 111
E. All follows

64. Statements: KxB,B@ D, D#K
Conclusions:

.B@K

I.B#K

. KxD

A. Only 1l

B. Only I and 1l

C. Only HI

D. Only Il and 111

E. None of these

65. Statements: NOR, R@M, M$J
Conclusions:

IINOM

ILN#M

IHI.RxJ

A. Only either I or 11
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B. Only 1l

C.Onlyl &1l

D.AILL T &I

E. Only either 1 or 1l and 1l

66. Statements: S$ T, T@R, R# M
Conclusions:

I MxT

I.LRxS

H.MO©T

A. None follows

B. Only |

C. Only 11

D. Only III

E. Only Il & 111

67. Statements: HQV, VOM, M x R
Conclusions:

I.LRxH

II.HxR

1. Hx M.

A. None follows

B. Only |

C. Only 11

D. Only I

E. Only Il & 111

Directions (Q. 68-72): In the following
questions, the symbol @, ©, *, $ and # is
used with the following meaning:

'A © B' means 'A is not smaller than B'.

‘A * B' means 'A is not greater then B'.

'A @ B' means 'A is neither smaller than nor
equal to B'.

‘A $ B' means 'A is neither smaller than nor
greater than B'.

‘A # B' means 'A is neither greater than nor
equal to B'.

68. Statements: Z#N, FON, F*K
Conclusion:
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I.K$N

LK@ Z

. KON

A. Only 11

B. Only I and 11

C. Only HI

D. Only Il and I
E. None of these

69. Statements: D$ T, TOM, M # K
Conclusions:

I.M$D

I.D@ M

HLK@T

A. lonly

B. I and Il only

C. Either 1 or Il only

D. All L1l and 111

E. None follows

70. Statements: WOA, B*A, B@OM
Conclusions:

I.B#W

I1.W$B

In.w@ M

A. Only either I or Il

B. Only Il

C.Onlyl &1l

D.AILL T &1l

E. Only either 1 or 1l and Il

71. Statements: J*M, M$N, N# T
Conclusions:

. T@J

I.T$J

mn.Taem

A.Only land Il

B. Only Il and 11

C. Only I and 111

D. None follows
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E. None of these

72. Statements: V*F,F@QR,R©G
Conclusions:

.G#V

I.G@ V

InH.va@R

A.Only I and 1l

B. Only Il and 11l

C. Only I and 111

D. None follows

E. None of these

Directions (Q 73-80): In the questions
given below, certain symbols are used with
the following meanings:

1) P $ Q means P is neither equal to nor
smaller than Q.

2) P © Q means P is not smaller than Q.

3) P * Q means P is neither greater nor

smaller than Q.

4) P # Q means P is neither greater than nor
equal to Q.

5) P @ Q means P is not greater than Q.

73. Statement: M#K, K*D, D@P
Conclusions:

IM@P

1. M*P

IH.P$K

A. None follows

B. Only |

C.Only Il

D. Only 1l

E. Only Il & 111

74. Statements: WOT, T$M, B#M
Conclusions:

ILW$B

In.M#W
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L. T$B

A. l only

B. I and Il only

C. Either 1 or Il only
D. All I, Il and I11

E. None follows.

75. Statements: H*D, D#R, RON
Conclusions:

I.LN*H

ILN$H

IHILH$R

A.Only I and 11

B. Only Il and I11

C. Only I and 111

D. None follows

E. None of these

76. Statements: Z@QR, ROD, D#T
Conclusions:

I.D#Z

I.Z#T

HLRS$T

A. None follows

B. Only I

C.Only Il

D. Only 1l

E.Only Il & 11l

77. Statement: Q#P, P@QF, F*M
Conclusions:

I.LM$P

ILP*M

HL.M$Q

A. Only either | or 11

B. Only I11

C.Onlyl &Il

D.AILL T &Il

E. Only either 1 or 1l and 1l
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78. Statements: E$J, J#H, HOM
Conclusions:

.LE$SM

I.J$M

IH.E$H

A.Only I and 1I

B. Only Il and Il1

C. Only I and 111

D. None follows

E. None of these.

79. Statements: ROP, P$M, M@D
Conclusions:

I.D$R

I.M#R

IH.D$P

A. None follows

B. Only Il & 11l

C.Only |

D. Only II

E. Only I1I

80. Statements: F#K, K©D, N@D
Conclusions:

I.N*K

I.LF$D

1. N#K.

A. Il only

B. I and Il only

C. Either 1 or Il only

D. All L1l and 111

E. None follows.

81. Statements: H%J, JON, N@R
Conclusions:

I.LR%J

InLH@J

In.N@H

(1) Only 1l

(2)Only I 'and 11
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(3) Only 1
(4) Only 1N
(5) None follows

82. Statement: M@ J,J$T, TON
Conclusions:

I.N#J

1. T% M

.M @ N

(1) Only I and 11

(2) Only Il and I11

(3) Only I 'and 111

(4) None follows

(5) All follows

83. Statement: DOK ,K#F ,F@ P
Conclusions:

I.P@D

I.K#P

IH.F$D

(1) Only 11

(2) Only I'and Il
(3) Only 111

(4) Only Il and 11
(5) None of These

84. Statement: K#N ,N$T, T % J
Conclusions:

.LJ@N

ILK@T

. T@K

(1) None follows

(2) Only I and 1l

(3) Only Il and 111

(4) Only I and 111

(5) None of These

85. Statement: M@ D ,DOV,V$W
Conclusions:
IWO@M
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.M %V
IN.D$W

(1) Only I'and 11
(2) Only Il and 11
(3) Only I'and 111
(4) Only 111

(5) None of These

In the following questions (86-90), the
symbol %, 0, %, ©, @, are used with the
following illustrations.

P % Q means P is not smaller than Q

P © Q means P is neither smaller than nor
equal to Q

P x Q means P is neither greater than nor
equal to Q

P 0 Q means P is not greater than Q

P @ Q means P is neither greater than nor
smaller than Q

86. Statement—ROK,; KxM ;M@ J
Conclusions :

.LJOK

II.M©R

. RxJ

A.Onlyl &1

B. Only Il & 111

C.Only I & 11l

D.AILL I &I

E. None of these

87. Statements-Z@ M ; MOK ; KxF
Conclusions :

LFOZ

I.KxZ

IH.FOM

A. None follows

B. Only |

C.Only 11

D. Only HI
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E.Only Il & 111

88. Statements - V% H; H@ F; FOE
Conclusions :

LF@V

I.FxV

. E % H

A. Only either I or 11

B. Only Il

C.Onlyl &1l

D.AILL T &Il

E. Only either I or 1l and 1l

89. Statements—- WO T,; TON, N %D
Conclusions :

I.DXxT

. WO N

mnm.o@rT

A. None follows

B. Only |

C.Only Il

D. Only 1l
E.Only | &II

90. Statements-Y @ G;GOK ; KxR
Conclusions :

I.LROY

. KxY

IHL.R© G

A. None follows

B. Only I

C.Only 1l

D. Only I11

E.Only Il & I

In the following questions (91-95), the
Symbols @, ©, $, % and # are used with
the following meanings as illustrated
below.

‘A $ B' means 'A is not smaller than B'.
‘A # B' means 'A is not greater then B'.
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‘A @ B' means 'A is neither smaller than nor
equal to B'.

'A © B' means 'A is neither smaller than nor
greater than B'.

'A % B' means 'A is neither greater than nor
equal to B'.

91. Statements: H% J, JON,N@ R
Conclusions:

I.LR%J

InLH@J

IH.N@H

A. Only Il

B. Only I and 111

C.Only |

D. Only I

E. None of these

92. Statements: M@ J,J$T, TON
Conclusions:

I.N#J

INL.T%M

.M @ N

A.Only I and 11

B. Only Il and 1l

C. Only I and 111

D. None follows

E. All follows

93.Statements: DO K, K#F, F@ P
Conclusions:

I.LP@D

I.K#P

IH.F$D

A.Only Il

B. Only I and 11

C. Only 1l

D. Only Il and 111

E. None of these
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94.Statements: K#N,N$ST, T%J
Conclusions:

LJ@N

nNHK@T

H.T @ K

A.Only I and 11

B. Only Il and 1l

C. Only I and 111

D. None follows

E. None of these

95.BOK,K#L,L@P

Conclusions:

.LP@B

I.K#P

IN.L$B

A. Only Il

B. Only I and Il

C. Only HI

D. Only Il and 111

E. None of these

In the following questions (96-100) , the
Symbols @, #, $, % and * are used with the
following meanings as illustrated below.
‘A $ B' means ‘A is not smaller than B'.

'A % B' means ‘A is not greater then B'.

'A @ B' means 'A is neither smaller than nor
equal to B'.

‘A * B' means 'A is neither greater than nor
smaller than B'.

'A # B' means 'A is neither greater than nor
equal to B'.

In each of the following question assuming
the given statements to be true, find out
which of the three conclusions 1,11 and 111
given below them is/are definitely true.

96. Statements: D*Q, Q@ L,L$B,B#G
Conclusions:
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.D@B

I.B*D

ln.c@L

A. Either 1 or Il only
B. I and Il only

C. lonly

D. Il and 111 only
E.None of these

97. Statements: Z@ Y, Y#K, K% M,M @
T

Conclusions:

L.Z@ M

In.Yy@TtT

H.Z#K

A. l only

B. Il and 111 only

C. Either 1 or Il only
D. All L1l and 111

E. None of these

98.Statements: P#M,M% R, R*T, T#L
Conclusions:

I.P#M

II.P*R

I1.M % L

A. Il only

B. I and Il only

C. Either 1 or Il only

D. All L1l and 111

E. None follows

99.Statements: F@H,M% H, M$R, G *
M

Conclusions:

I.LF$R

I.LF@R

IHLH$G

A. 1l only

B. Il and 11l only
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C. Either 1 or Il only
D. All LIl and 11
E. None follows

100. Statements: T@ H,S% H,S$R, G *
S

Conclusions:

. T$R

I.LT@R

INLH$ G

A. lonly

B. Il and 11l only

C. Either I or Il only
D. All L1l and 111

E. None follows.

Directions (101-105): In these questions,
certain symbols have been used to indicate
relationships between elements as follows:
a) P @ Q means P is not smaller than Q.

b) P # Q means P is neither smaller than nor
equal to Q.

c) P % Q means P is neither greater than
nor smaller than Q.

d) P $ Q means P is not greater than Q.

e) P * Q means P is neither greater than nor
equal to Q.

101. Statements: S@ V ,V#M, V% F
Conclusions:

I.S#M

I.S@F

. M#F

A. None follows

B. Only I follow

C. Only Il follow

D. Only Il follow

E. Only 1l & 111 follows

102. Statements: B$D,D*F,R% B
Conclusions:
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I.F#R

II.LR$D

I.B#F

A. Only I and 11 follows
B. Only Il and 111 follows
C. Only I and Il follows
D. None follows

E. All follows

103. Statements: V#I1,1@J,J$P
Conclusions:

I.LV#J

I.V#P

. P #1

A. Only Il follows

B. Only I and I11 follows

C. Only I follow

D. Only 111 follow

E. None of these

104. Statements: C*D ,D#T,T$J
Conclusions:

I.LC*T

I.D$J

I.J#C

A. None follows

B. Only I follow

C. Only Il follow

D. Only I11 follow

E. Only 1l & 111 follows

105. Statements: R$W , W% J,J @ K
Conclusions:

.LR$K

I.W@ K

. J @ R.

A. Only I and 11 follows

B. Only 11 and 111 follows

C. Only I and 111 follows

D. None follows
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E. All follows

Directions (106-110): In these questions,
certain symbols have been used to indicate
relationships between elements as follows:
1) A @ B means P is not smaller than Q.

2) A # B means P is not greater than Q.

3) A $ B means P is neither greater than nor
smaller than Q.

4) A + B means P is neither smaller than
nor equal to Q.

5) A % B means P is neither greater than
nor equal to Q.

106. Statements: Y SW, W@ O,O0O#H
Conclusions:

.LY+O

I.H% W

IHL.H+Y

A. None follows

B. Only I follow

C. Only Il follow

D. Only I11 follow

E. Only Il & 111 follows

107. Statements: B+ M, M@ Z,Z$C
Conclusions:

I.C+M

I.B+2Z

I1.C+B

A. Only Il follows

B. Only I and 111 follows

C. Only I follow

D. Only Il follow

E. None of these

108. Statements: N@ S,S% M, M+ H
Conclusions:

I.M#N

II.N+H

.M+ N
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A. Only Il follows

B. Only I and |1 follows
C. Only Il follows

D. Only 11 and 111 follows
E. None of these

109. Statements: L@ U ,U+A ,A$G
Conclusions:

.GS$SL

I.L#G

I.L+A

A. None follows

B. Only I follow

C. Only Il follow

D. Only I11 follow

E. Only Il & 111 follows

110. Statements: J#W , W+A A@F
Conclusions:

LF$W

I.F%W

I.J+F

A. None follows

B. Only I follow

C. Only Il follow

D. Only 111 follow

E. Only Il & 111 follows

Directions (111-115): In these questions,
certain symbols have been used to indicate
relationships between elements as follows:
1) A % B means A is either smaller than or
equal to B.

2) A - B means A is greater than B.

3) A # B means A is neither greater than nor
smaller than B.

4) A'$ B means A not smaller than B.

5) A @ B means A is either greater than or
equal to B.

111. Statements: U#F ,F$W,W-K
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Conclusions:

.K$U

. K#U

Inm.wWe@u

A. Only I and I follows
B. Only Il and 111 follows
C. Only I and 111 follows
D. None follows

E. All follows

112. Statements: H@ D ,D-B,B$W
Conclusions:

.B$H

I.W$H

IH.D$W

A. Only Il follows

B. Only I and 111 follows

C. Only I follow

D. Only 111 follow

E. None of these

113. Statements: VS F,F% P ,P-J
Conclusions:

.LJSF

I.P-V

M.v-1J

A. None follows

B. Only I follow

C. Only Il follow

D. Only I11 follow

E. Only 1l & 111 follows

114. Statements: Q$T, T% G, Q-N
Conclusions:

.Q$G

ILNS$T

IN.N-G

A. Either I or Il only follows

B. I and Il only follows

C. Only I follow
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D. Il and 111 only follows
E. None of these

115. Statements: A$T, T%C,C@F
Conclusions:

LA#T

I.LA@F

I.C-A.

A. Only II follows

B. Only I and |1 follows

C. Only Il follows

D. Only Il and 11 follows

E. None of these

116. Statements: J >S>=R<U, N>R=E
Conclusions:

I.J>E

1. S>E

1. U>S

A. Only Il follows

B. Only I and 111 follows
C. Only 11 follows

D. Only I follow

E. None of these

117. Statements: Q=N>X=<Z, L>N
Conclusions:

l. L>Z

1. Q<L

. L> X

A. Only Il follows

B. Only I and 1 follows

C. Only Il follows

D. Only Il and I11 follows

E. None of these

118. Statements: H<Q=T=<P, V>Q
Conclusions:

l. V>P

I. H>V
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. v>H

A. Only I and Il follows
B. Only Il and 111 follows
C. Only I and 11 follows
D. None follows

E. All follows

119. Statements: J=<T<L=R, J=<C=Q<B
Conclusions:

l. B>=T

Il. Q=<L

1. R>=Q

A. None follows

B. Only I follow

C. Only Il follows

D. Only 111 follows

E. Only Il & 111 follows

120. Statements: J=<K<L=N, J>=C=0Q<B
Conclusions:

I.N>C

1. K>=Q

1. J>B

A. Only I and I follows

B. Only Il and 111 follows

C. Only I and I11 follows

D. None follows

E. All follows

121. Statements: A>=N=S>J, P>=N
Conclusions:

I. A>=]

1. P>J

1. N<J

A. Only Il follows

B. Only I and I11 follows

C. Only Il follows

D. Only I follow

E. None of these
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122. Statements: P>M>=F<R, H=<P
Conclusions:

I. H>F

Il. P>R

. F>P

A. Only I and I follows

B. Only 11 and 111 follows

C. Only I and 111 follows

D. None follows

E. All follows

123. Statements: L>=M=Z, B<l=<Z
Conclusions:

I. M>I|

Il. L>B

. Z>L

A. None follows

B. Only I follow

C. Only Il follows

D. Only Il follow

E. Only 1l & 111 follows

124, Statements: D=U=<Q, P>J>=D
Conclusions:

l. P>U

1. 3>=Q

. Q>P

A. Either I or Il only follows

B. I and Il only follows

C. Only | follow

D. Il and I11 only follows

E. None of these

125. Statements: E<X=S>0=Z
Conclusions:

. X>Z

1. Z<S

. Z>E

A. Only Il follows

B. Only I and 11 follows
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C. Only 11 follows
D. Only 11 and 111 follows
E. None of these

126. Statements: A>M>=D >H =<R
=<Y<W

Conclusions:

I. A>H

. W>H

. R<W

V. M>Y

A) Only I, Il and 111 follows

B) Only Il follows

C) Only I and I1 follows

D) Only I and either Il or 1V follows
E) All 1, 11, 11l and IV follows

127. Statements: M>U >L=<N;L>=Y >
A

Conclusions:

I. Y<N

Il. M>N

1. N=Y

V. M>A

A) Only either Il or 111 follows

B) Only IV and either I or 111 follows
C) Only IV follows

D) Only 11 follows

E) Only 111 follows

128. Statements: G>=B>D=F;L<B<
M

Conclusions:

l. M<J

1. G>L

I1l. D>L

IV.F<M

A) Only I1 follows

B) Only I and I11 follows

C) None follows
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D) Only Il and 1V follows
E) Only I and Il follows

129. Statements: E>F =<0 =<L; F>=
u<T

Conclusions:

l. E>L

Il. T<F

1. O>T

IV. L<U

A) Only I follows

B) Only 11 follows

C) Only 111 follows

D) None follows

E) Only I and IV follows
130. Statements: N>C=<Y=<R<U=Z
>=E

Conclusions:

I. N>R

Il. Z=<R

1. R>E

IV.Z>C

A) Only I and 11 follows
B) Only IV follows

C) None follows

D) Only Il and 1V follows
E) Only Il and 111 follows

131. Statement: Q>N >=R=B=<L <]
Conclusions:

I.LJ>R

1. Q>=L

I.Q>B

A. Only I and Il follows

B. Only Il and 111 follows

C. Only I and 111 follows

D. None follows

E. None of these

132. Statements: U>=R=C,C>=N>M
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Conclusions:

I.R>N

InLu>M

IHLR>=M

A. None follows

B. Only I follow

C. Only Il follows

D. Only 11 follows

E. Only Il & 111 follows

133. Statements: D>R <Y, V>W>=K =
Y

Conclusions:

I.LW>D

I.V=<Y

I.V>R

A. Only Il follows

B. Only I and 111 follows
C. Only 11 follows

D. Only I follow

E. None of these

134. Statement: E>D=G=<H=<I|=L
Conclusions:

I.L.L>D

I.D=L

IHLE>I

A. Either 1 or Il only follows

B. I and Il only follows

C. Only I follow

D. Il and Il only follows

E. None of these

135. Statement: L=B>=7Z=U<P =R
Conclusions:

l.L>=U

I1.Z<R

I.B>R

A. Only 11 follows

B. Only I and 1 follows
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C. Only Il follows
D. Only Il and 111 follows
E. None of these

136. Statement: H>=P =R>=V <G >=
E>S

Conclusions:

LH>=V

ILR>E

I.G>P

A. Either I or Il only follows
B. I and Il only follows

C. Only | follow

D. Il and I11 only follows

E. None of these

137. Statement: Q >= O =R>=N<F >=
K>S

Conclusions:

I.LF>0

II.S<R

I.Q>N

A. Only I and 11 follows
B. Only 11 and 111 follows
C. Only I and 111 follows
D. None follows

E. None of these

138. Statement: A=Z>=D<V<M=<N
Conclusions:

LM>Z

ILD<N

IHLA>V

A. Only 11 follows

B. Only I and I11 follows

C. Only Il follows

D. Only I follow

E. None of these
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139. Statement: J<Y=<S>U=W<L<
Q=T

Conclusions:

.Q>U

I.W<S

1. T>U

A. Only I and I follows
B. Only Il and 111 follows
C. Only I and 11 follows
D. None follows

E. All follows

140. Statement: K< X=<V>U=Z<L<
P=R

Conclusions:

IL.K<Z

I.LR>U

I".v=>=z

A. None follows

B. Only I follow

C. Only Il follows
D. Only I1I follows
E. Only 1l & 111 follows

141. Statement: Q> H=U>=C=J<E
Conclusions:

.Q>J

ILE>H

IHI.H>=]

A. Only I and I follows

B. Only Il and 111 follows

C. Only I and 111 follows

D. None follows

E. All follows

142. Statement: W>H=1>=C=L<E
Conclusions:

ILE<W

I.1>=1L

IHLE> I
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A. Only Il follows

B. Only I and 111 follows
C. Only Il follows

D. Only I follow

E. None of these

143. Statement: P=R>=E<S=N>=T
Conclusions:

ILP>T

I.LN>R

IH.S>P

A. None follows

B. Only I follow

C. Only Il follows

D. Only I11 follows

E. Only Il & 111 follows

144, Statements: C>B>=L, Q=E>P =
C

Conclusions:

I.Q>B

ILL<E

H.Q>L

A. Only I and 11 follows
B. Only Il and 111 follows
C. Only I and 111 follows
D. None follows

E. All follows

145, Statement: D=<H=J=<K>=P >R
Conclusions:

I.D=K

II.K>D

IH.K>R

A. Either | or Il and 11l follows

B. I and 11 only follows

C. Only I follow

D. Il and I11 only follows

E. None of these
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146. Statement: A>=R>S=Y<W<V
Conclusions:

ILA>Y

I.W>R

I.vV>S

A. Only I and I follows

B. Only Il and 111 follows

C. Only I and 111 follows

D. None follows

E. None of these

147. Statements: A>F>=G,D<H=G
Conclusions:

I.LA>=H

II.F>=D

I1.D>=G

A. None follows

B. Only I follow

C. Only 11 follows

D. Only I11 follows

E. Only 1l & 111 follows

148. Statements: O =< U <L,P>=1<C
=L

Conclusions:

I.LU>I

I1.C>0

IHi.L>1

A. Only I and 1l follows
B. Only Il and 111 follows
C. Only I and 111 follows
D. None follows

E. All follows

149. Statement: R>=U>F=E>=X>Z
Conclusions:

I.LR>E

I.U>X

I".F>2z

A. Only I and Il follows
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B. Only Il and 111 follows
C. Only I and 111 follows
D. None follows

E. All follows

150. Statement: B>D <T>=V=M>=X
>Z

Conclusions:

I.T>X

I.T=X

H.T>=27

A. Either I or Il only follows
B. I and Il only follows

C. Only | follow

D. Il and I11 only follows

E. None of these
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Solutions

1) OptionD.P>Q,R<P,R>=0=Q >=
R
2)OptionC.P=<Q, T=R,R>P=T =<
Q
3)OptionE.P=Q,L=M,P>L=Q>M
andM <P
4)OptionD.P>M>L;L>N=Q;=Q<
S=R
5)OptionD.P>=Q,Q=Tand T>=L=
Q>=L
6) Option B B>V .(i); K<C..(ii) ;
C=<B...(iii)

V>=C not follows

B>K follows
7) Option D. K>T..(i); S=K ...(ii);
T=<R...(iii)

Neither nor follows
8) Option C. U=M..(i); P>=U..(ii);
M>=B...(iii)

P=B of P>B

Either or follows
9) Option D. L>= N....(i); J<=P...(ii);
P>=L....(iii)

Neither nor follows
10) Option E. H>=G..(i); D>E...(ii);
H=E...(iii)

D>H and G<D

Both follows
11) OptionD. T=G,K>P,M<T, P >=
M

Neither nor follows
12) Option B. R>=N, S=<B, A>R, B=A

S = N not follows

A > N follows
13) OptionC.G =K, F>J,K>=Q, Q >=
F

Either or follows
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14) Option AW >S, K=<Z U>=W,S=
K
U>K follows
Z>S not follows
15) OptionE.G=E,D<K,E<S,K=<G
Both follows
16) Option A. P > Q...(i), M < N...(ii), N <
Q ... (iii)
P > M follows.
P > N. not follows
17) OptionD.D < X ... (i), F>Y ... (ii), D >
F ... (iii)
Neither nor follows
18) OptionB. M<P,S>T,M>=T
S = M not follows
T < P follows
19) Option E. U=V, X > W, U<W
Both follows
20) OptionCG >H,J=<K,H=K
H>J
J=H
Either or follows.
21) Option B. M < N...(i), T > U ... (ii); N<
U... (iii)
M< T not follows
T > N follows
22) OptionE.P>T, .. (i); G < N...(i1)), T >

P>N
G<T
Both follows
23) OptionD.P<Q ... (I); R>S.... (ii); Q

Neither nor follows
24) Option D. J < K... (i); K=F...(i1)); H>
F. .. (iii)

Neither nor follows
25) OptionA.D>F... (); G>H (i) F
<H ... (iii)

G > F follows
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D > H not follows.
26) OptionC.B<D .... (i), E<T ... (i), T
> P ...(iii), P> B.... (iv)
Either or follows
27)OptionE.E>F ... (i), G<H .... (i), H
(iii), G>K
H>K
H>F
Both follows
28) Option A. P < Q... (i), N=M... (i), M >
R... (iii), R>P... (iv)
N > P follows
Q < M not follows
29) OptionB.D<T;ELV;FLT,;E>D
D =<V follows
D < F not follows
30) Option D. T>=U; U=<W;V>L; W<
\Y

Neither nor follows
31) OptionD. U >V ... (), W<Y ... (i)Y

Neither nor follows
32) Option E. B< A.... (i), D>E .... (ii), E>

D>A.

B<E.

Both follows
33) Option A..S>Q ... (i), R>T ... (ii), R <
S ... (iii)

S > T follows

Q =T not follows
34) OptionC.M <N ... (), P>Q ..... (i), P

Either or follows
35) Option B. G < H...(i), K> L...(ii), L<
G...(iiN)

G < K not follows

L =< H follows.
36) Option D. N<S... (i), S> P ... (ii), P#
M ... (iii)
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Neither nor follows
37) OptionD. J=P ... (i), P>=N... (i), J
#H ... (iii)
Neither nor follows
38) OptionB.Z>D,F=D,F>=G
D=G not follows
Z>G follows
39) OptionE.L>T,P<T,K>=L
L>P
K>T
Both follows
40) OptionC.R=U,U<Q,W>=R
w=u
w>U
Either or follows.
41) Option A. P>Q (i), P

R > Q follows
P =< S Not follows
42) Option C. U>V ... (i), W< X (i) ,
(iii)
V> X
V=X
Either or follows
4)OptionE. K<T..()),D>F ..(i), T<
F ...(iiM)
D>T
D >K
Both follows
44) Option D. M>N, G>=H, N=H
Neither nor follows
45) Option B. G>M..(i), N> L..(I1G <L
(D)
G >= N Not follows
L > M follows.
46) Option D. K=M, N+M, J>=K
Neither nor follows
47) Option D. K>=R, L# B, B=<K
Neither nor follows
48) Option D. J>M, W=E, J>=W
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Neither nor follows
49) OptionD.R>=S5,S=<U, T=R
Neither nor follows
50) Option D. A>B, B =< C, C >=D.
Neither nor follows.
51) Option DP#Q .... (i), O> R (ii), P
=R ... (iii)
Q>P
P<Q
R>P
All follows
52) Option BA =B (ii), C

C # A follows

B = C not follows

C >=A not follows
53) OptionAY>=Z..(i),Z2>Q ... (ii), O #
P ...(iii)

Y<Q

Y<P

Z>=P

None follows
54)OptionEE>F...() F L ... (i), L=
N .... (iii)

F >= N not follows

E > L follows

E > N follows
55) Option A. H >=J...(i), J < K... (ii), K>
M....(iii)

I.H>=M

IH.M=>J

I1.H>K

None follows
56) Option E. M>=T...(i), T=V....(ii),

(iii)

LV=M

In.v<M

I11. E > T follows

Either 1 or Il and 111 follows
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57) Option A. H>=J...(i), J < K... (ii), K >
M....(iii)
H>=K
M>H
H>K
None follows
58) Option A D=F, F+M, M<K
F<K
D<K
D=<M
None follows
59) OptionCK>M, M<R,R=T
K > T not follows
T > M follows
R > K not follows

60) Option C.T<M, M=<R,R=N
M=N
M <N
R=T
Either I or Il follows
61) Option D. B#N,N=R R>T
B#R
T<N
N>T
All follows
62) OptionB.N=P,K>P,Q <K
K > N follows
Q > N not follows
Q > P not follows
63) Option E.Z>=K....(i), K>T.....(ii), T=F
... (100)
F<Z
Z>T
K>F
All follows
64) Option A. K > B ....(i),, B=<D
D <K .... (iii)
B [1 K [Jot follows
B < K follows
K > D not follows
65) Option A.N=R ....(i),, R=<M
M >=] ... (iii)
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N=M

N<M

R>J

Either 1 or Il follows
66) Option B. S >=T ....(i),, T =< R.....(ii),
R <M ... (iii)

M > T follows

R > S not follows

M = T not follows
67) Option A. H=<V. ...(i), V=M .....(ii),
M >R .... (iii)

R>H

H>R

H>M

None follows
68) Option D. Z< N ....(i), F >= N ....(ii), F
=<K ....(iii),

K > N not follows

K > Z follows

K >= N follows
69) Option C. D=T...(i), T>=M...(ii),
M<K....(iii)

M=D

D>M

K>T

Either | or Il follows
70) Option E. W>=A..(i); B=<4...(ii);
B>M...(iii)

B<W

B=W

W>M

Either 1 or Il and 11 follows
71) Option C. J=<M...(i); M=N...(ii),
N<T....(iii)

T > J follows

T = J not follows

T > M follows
72) Option D. V=<F...(i); F>R....(ii),
R>=G...(iii)

GV
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G>V

V>R

None follows.
73) Option A. M <K ...(i)); K= D....(ii); D
=< P...(iii)

M=<P

M=P

P>K

None follows
74) Option D. W>=T....(i); T>M....(ii);
B<M...(iii)

W>B

W>M

T>B

All follows
75) Option D. H =D ....(i);; D <R ....(ii);
R>=N ...(iii)

N=H

N>H

H>R

None follows.
76) Option A. Z=<R..(i); R>=D..(ii);
D<T..(iii)

D<Z

Z<T

R>T

None follows.
77) Option E. Q<P..(i); P=<F..(ii);
F=M...(iii)

M>P

M=P

M>Q

Either 1 or Il and 11 follows.
78) Option D. E>J..(i); J<H...(ii);
H>=M...(iii)

E>M

J>M

E>H

None follows
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79) Option B. R>=P...(i); P>M...(ii);
M=<D...(iii)
D > R not follows
M < R follows
D > P follows
80) Option C. F<K...(i); K>D...(ii);
N<D...(iii)
K<N
F>D
K=N
Either | or 111 follows.
81) OptionB.H<J=N>R
R < J follows
H > J not follows
N > H follows
82) OptionE.M>J>=T=N
N=<]
T<M
M> N
All follows
83) OptionC.D =K=<F>P
P > D not follows
K =< P not follows
F >= D follows
84) Option A. K=< N>= T <J
J>N
K>T
T>K
None follows
85) OptionD.M>D=V>=W
W > M not follows
M<V not follows
D >= W follows
86-90)
P % Q means P is not smaller than Q

P © Q means P is neither smaller than nor
equaltoQ--- [P > Q]

P x Q means P is neither greater than nor
equal to Q
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P 0 Q [eans P is not greater than Q
-[P=<Q]

P @ Q means P is neither greater than nor
smaller than Q

86) Option D. R=<K<M=]
J>K
M> R
R<J
All follows
87)OptionC.Z=M>K<F
F > Z not follows
K< Z follows
F> M not follows
88) Option E. V>=H =F=<E
F=V
F<V
E>=H
Either I and Il and 11 follows
89) Option A. W>T, N>=T, N>=D
D<T
W> N
D=T
None follows
90) OptionC.Y=G>K<R
R > Y not follows
K<Y follows
R> G not follows
91-95)
‘A $ B’ means ‘A >=B’
‘A % B’ means ‘A =< B’
‘A @ B’ means ‘A > B’
‘A * B means ‘A =B’
‘A# B’ means ‘A <B’

91) OptionB.H<J,J=N,N>R
R < J follows
H > J not follows
N > H follows

92) OptionE.M>J,J=T,T=N
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N=J
T<M
M>N
All follows.
93)OptionC.D=K,K=F,F>P
P > D not follows
K = P not follows
F = D follows
94) OptionD.K=N,N=T,T>J
J>N
K>T
T>K
None follows
95)OptionC.B=K,K=L,L>P
P > B not follows
K = P not follows
L = B follows.
96) OptionC.Q>L,L=B,B<G
D > B follows
B = D not follows
G < L not follows
97) OptionE. Y <K, K=M,M>T
Z>Y
Y>T
Z<K
None follows
98) OptionA.P<M,M=R,R=T,T<L
P <R follows
P =R not follows
M = L not follows
99) OptionB.F>H,M=H,M=R,G=M
F =R not follows
F > R follows
H = G follows.
100) OptionB. T>H,S=H,S=R,G =
S
T = R not follows
T > R follows
H = G follows.
101) OptionB.S>=V,V>M ,V=F
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S > M follows
S >= F not follows
M > F not follows
102) OptionA.B=D,D=<F,R<B
F > R follows
R =< D follows
B > F not follows
103) OptionC.V>1,1>=],J=<P
V > J follows
V > P not follows
P > I not follows
104) OptionA.C<D,D>T,T=<
C<T
D=<l
J>C
None follows
105) Option C.R=<W,W=J,J>=K
R =< K not follows
W >= K follows
J >=R follows
106) Option A. Y <W,W>=0,0=<H
Y>O0
H=W
H>Y
None follows
107) OptionA.B>M , M>=Z7Z,Z<C
C > M not follows
B > Z follows
C > B not follows
108) Option B. N>=S, S=M, M>H
M =< N follows
N > H follows
M > N not follows
109) Option D. L>= U, U>A, A<G
G<L not follows
L<=G not follows
L>A follows
110) Option B. J=<W, W>A, A>=F
F < W follows
F = W not follows
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J > F not follows
111) OptionD.U=F ,F<W,W>K
K<U
K=U
W>=U
None follows
112) OptionC.H>=D,D>B,B<W
B < H follows
W < H not follows
D < W not follows
113) OptionA.V<F ,F=<P,P>]
J<F
P>V
V>
None follows
114) OptionC.Q<T,T<G,Q=<N
Q < G follows
N < T not follows
N > G not follows
115) Option C.A<T,T=<C,C>=F
A =T not follows
A >= F not follows
C > Afollows
116) Option D. J >S>=R<U, N>R=E
J>E follows
S>E not follows
U>S not follows
117) Option D. Q=N>X=<Z, L>N
L>Z not follows
Q<L follows
L> X follows
118) Option C. H<Q=T>=P, V>Q
V>P follows
H>V not follows
V>H follows
119) Option D. J=<T<L=R, J>=C=Q<B
B >= T not follows
Q =< L not follows
R >= Q follows
120) Option A. J =< K< L=N, J>=C=Q<B
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N>C follows
K>=Q follows
J>B not follows
121) Option A. A>=N=S>]J, P>=N
A>=] not follows
P>J follows
N<J not follows
122) Option D. P>M>=F<R, H=<P
H>F
P>R
F>P
None follows
123) Option C. L>= M=Z, B<Il=<Z
M=>I not follows
L>B follows
Z>L not follows
124) Option C. D=U=<Q, P>J>=D
P>U follows
J>=Q not follows
Q>P not follows
125) Option B. E<X=S>0=Z
X>Z follows
Z<S follows
Z>E not follows
126) Option A
127) Option B
128) Option D
129) Option D
130) Option B
131) OptionC.Q >N>=R=B=<L <]
J > R follows
Q >=L not follows
Q > B follows
132) Option C. U>=R=C, C>=N>M
R > N not follows
U > M follows
R >= M not follows
133) OptionC.D>R<Y,V>W>=K =Y
W > D not follows
V =< not follows
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V > R follows
134) OptionA.E>D=G=<H=<I1=L
L>D
D=L
E>I
Either I or Il follows
135) Option B. L=B>=Z7Z=U <P=R
L>=U follows
Z<R follows
B>R not follows
136) OptionD.H>=P =R>=V <G >=
E>S
H >=V follows
R > E not follows
G > P not follows
137) OptionD.Q>=0=R>=N<F>=
K>S
F>0
S<R
Q>N
None follows
138) Option A. A=Z>= D<V<M=<N
M > Z not follows
D < N follows
A >V not follows
139) Option E. J<Y=<Y>U=W<L<Q
=T
Q>U
W<S
T>U
All follows
140) Option E. K< X=<V>U=Z<L <P
=R
K < Z not follows
R > U follows
V > Z follows
141) OptionC.Q>H=U>=C=J<E
Q > Jfollows
E > H not follows
H >=J follows
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142) OptionAW>H=1>=C=L<E
E < W not follows
| >=L follows
E > I not follows
143) OptionA.P=R>=E<S=N>=T
P>T
N>R
S>P
None follows
144) OptionE.C>B>=L,Q=E>P=C
Q>B
L<E
Q>L
All follows
145) OptionA.D=<H=J=<K>=P >R
D=K
K>D
K>R
Either I or Il and 111 follows
146) OptionC.A>=R>S=Y<W<V
A >Y follows
W > R not follows
V > S follows
147) OptionA.A>F>=G,D<H=G
A>=H
F>=D
D>=G
None follows
148) OptionB. O=<U<L,P>=1<C=L
U > | not follows
C > O follows
L > | follows
149) OptionE.R>=U>F=E>=X>Z
R>E
Uu>X
F>7
All follows
150) OptionA.B>D <T>=V=M>=X
>7
T>X
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T=X
T>=Z
Either | or Il follows.
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